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6. (i) x=sin! (-;-] MW a1jUeS H0s)TIdlemmaI]cl wdlcoo? n
= ~1 2 — 1 i]
(a) x=cos [3] (b) x=tan [4
(c) x=cosec! [;—] (d) x=cot! [%}
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7. (i) sin)sin x)=x is defined on (1)
I T T
{a) I'{“E‘EJ (b) xe[mi,i]
(€) xe([0,n] (d) xe(mn
(ii)  Find the value of sin~! (5in l—iEJ 2
Answer any 8 questions from 8 to 17. Each carries 4 scores, (8 x4=32)
8. Consider the functions f{x) = sin x and g(x) =3,
(iy  Find fog (x). 2)
(ii)  Show that the function fog (¥) is a continuous function. (2)
9. Find the shortest distance between the skew lines 1 = (’1:\ + Ej\ + E) + 1.{? - ? iy ﬂ] and
r=Q1 -7 Ry pi+ 5+ 20,
10. The figure shows the graph of a function f(x) and it’s derivative ‘(x). Using these
graphs answer the following questions : o
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(i) Identify the points at which the function f(x) have a local maximum and local
minimum, (1)
(i) Find the intervals on which the function f{x) is strictly decreasing. (1)
(iii} Find the absolute maximum and absolute minimum values of f{x) in the interval
[-1, 4). 2
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(ii)  f{(x) ngyom ansoALOB mglagled aflgslondleo’ @y A0S @08, (1))
(iii) f(x) ngym ansmEAMaT [-1, 4] ou @RENIGTUILIS Bodmi g, msnicmuoens dlaias
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16%:

(i) Find %,jt‘y = log (cos(e")). ) )

(ii) Ify=sin"! x, show that (1 -x%)y,—xy, =0. 2)
w2

(i) Evaluate j cos Zxdx. (2)
[

(ii) Find the area bounded by the curve y =cos 2x,x =0, x= gand X-axis. (2)

In a factory which manufactures bolts, machine A, B and C manufactures respectively
2504 35% and 40% of bolts. Of their outputs 5%, 4%, 2% respectively defective bolts.
A bolt is drawn at random from the product and is found to be defective. What is the
probability that it is manufactured by the machine B 7

¥ is a random variable which denotes the number of heads obtained when a coin is
tossed three times.

(i)  Find the probability distribution of the random variable. (2)

(i) Find the mean and variance of the probability distribution. . 2)
Equation of a curve is in the form of a third degree polynomial, It has local maxima and
local minima at x = 1 and x = 3.

: . dy

i) Write —. (2)
0] i

(ii) If the curve passes through the point (3, 1), then find the equation of the curve.  (2)

2 2

Find the area of the region bounded by the ellipse Ly R

25 16

Find the equation of all lines having slope 2 and being tangent to the curve
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A = {L 2, 4, 8} apmm aavdlee) a0} eoqjeonutd * adlnenieae. a * b = a, b
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(1) * 80) aamimal 89 jc0numoeammoaaT’ adlcuow] o). 3
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Consider the line
P =@t +5]-ehy+ai+i+ 2B
(i)  Write a point on the line. 1

(i) Find the equation of a plane passing through the point obtained in part (i) and
perpendicular to the given line. . (2)

(iii) Finda point on the line which is 3 units way from the point obtained in part ().  (3)

A manufacture company makes two models A and B of a product. Each piece of Model
A and B requires 9 labour hours for fabricating and 1 labour hour for finishing. Each
piece of Model B requires 12 labour hours for fabricating and 3 labour hours for
finishing. For fabricating and finishing the maximum labour hours available are 180
and 30 respectively per week. The company makes a ﬁmﬁt of T 8,000 on each piece of
Model A and T 12,000 on each piece of Model B. How ﬁlany piece of model A and.
Model B should be manufactured per week to realise a maximum profit ? What is the

B

maximum profit per week ?
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